/S g g A AF X A X ERp S 2
A A CIEE CIE- I
M
& Al M

E(HHMEA)

20244 & o
M
1577-8549

(02)3436-6450

1%




ey wssHad--5 4 E R EEHASA)

T2 bl LR 2l g
= 72 >z o9 bl 2
& ot =R & ot =R & Ot 2 o & Ot 2 o
. XYY WS SBERI(SB2) - =5 HE2S (H1070 x W2000-SB2) & X Z A 'F2H'g
?139.8x2300x4.3t 1 EA | 60,000 60,000 60,000 = 60,000
ks @114.3x500x4.3t 1 EA 15,000 15,000 15,000 15,000
2 0139.88 1 EA 6.900 6,900 6,900 6.900
ERSE 144x70x9t 2 EA 10,600 21,200 10,600 21,200
175x4330x3.9t 1 EA | 178,000 178,000 178,000 178,000 =AEx
CEE 180x50x400x3.2t 1 EA 11,600 11,600 11,600 11,600
et 130x100x3996x3.0t 0.5 EA | 180,000 90,000 180,000 = 90,000 =0is
1 110x100x3996x3.0t 0.5 EA | 120,000 60,000 120,000 60,000 =0is
ze2ls 300x86x4.0t 0.5 EA | 20,500 10,250 20,500 10,250 2=0is
A'SSY 76x74x737 0.25 EA | 750,000 187,500 750,000 | 187,500 #a/sAzEbIE ¥
e 240x95x4.0t 1 EA 17,500 17.500 17.500 17.500
B/N @16x190 3 EA 2,300 6.900 2,300 6.900
B/N ?16x38 6 EA 900 5,400 900 5,400
B/N @ 16x45 2 EA 900 1,800 900 1,800
B/N M16x130 1 EA 6.000 6,000 6,000 6,000
B/N M12x35 4 EA 1,300 5,200 1,300 5,200
B/N M8x25 1 EA 1,000 1,000 1,000 1,000
A (R ZH) 684,250 - - 684,250
bN]:] SgoF 0.075 ¢ 214,222 16,066 214,222 16,066 |20244 AL BAEESH(USALES]) P.746
28o= 0.150 ¢ 165,545 24,831 165,545 24,831 20244 ALBANEESH(UEALES]) P.746
| 25kw 0.100 hr 9.437 943 33,571 3.357 3,237 323 46,245 4,623 PPpi! BASNEEBAHEALER) P76
WS (22013 ZE) 0.6m° 0.100 hr 25,459 2,545 55700 5570 34,509 3450 115668 @ 11,565 ol ZeSMESEAEAEEE)PI
Ze? 2.5ton 0.200 hr 7,083 1,416 47,231 9.446 6.169 1,233 60,483 12,005 2P SESNEEEAUEnaEa P40
=3:] oIHEZ2 3% 1A 1,226 1,226 1,226 1,226 (20249 ALTAEESH(HEALE D) P.746
AN (& RIH) 6,130 59,270 5,006 70,406
b 690,380 59,270 5,006 754,656
*'m" €0} : 754,656 |/ 2m = 377,328 o e L e 1 s s o




U
M
g
N
H

M 2 sl L 2y 2l g Al
= 72 s | @9 Bl 2
=3 2 o e O 2 o e O 2 o o O 2 o
: 2R D|(25kw)-'AlHE
0.001W% S 43 1 1,770 7.611 1,770 7,611 |2024.01 20t P.1451
=120 24% 0.24 Al 7.611 1,826 7.611 1,826
| H 2 Al 1 ol 33,571 33,571 33,571 33,571 H4zE
A 9,437 33,571 3,237 46,245
YO E2(2.5t0n)-"Al2HE
0.001W% S 29 | 1,770 5,133 1,770 5,133 |2024.01 27t P.1451
Fol2 0| 38% 0.38 4l 5,133 1,950 5,133 1,950
Ab 1 ol 47,231 47,231 47,231 47,231 H53E
| 7,083 47,231 6,169 60,483
D MS(0.6m° HEEHI0IH EE)-'AIHE
0.001W% S 1.6 | 1,770 20,532 1,770 20,532 2024.01 Heh7t2 P.1451
F=ol2 0| 24% 0.24 Al 20,532 4,927 20,532 4,927
SH A 1 ol 55,700 55,700 55,700 55,700 H63E
| 25,459 55,700 34,509 115,668
UL H S A" Al
S A} 0.208 ¢l 161,142 33,571 161,142 33,571 120712 Al 2bxat 0 H4x 3 X1 2 =(1/8)x(16/12)x(25/20)
SIEXSFA-AIRV Y
A 0.208 ol 226,709 47,231 226,709 47,231 [1LIIZ=AIZx a0 Hl 2=x 5 X H 2==(1/8)x(16/12)x(25/20)




M = 4l L 24l 4 4l g Al
=B A =g | &= B 2
= = o & Ot = o & Ot = o (=l = o
* HE6SH : ALI|H2EA-'Al2HE
AEIJH2EAM 0.208 ¢l 267,360 55,700 267,360 55,700 |12IIZEAIZbxA O Hl 2x & XI H 4==(1/8)x(16/12)x(25/20)
* AT}
SEgoL 2024.1.10|= 1 4 - 214,222 214,222 214,222 214,222
BS0F 2024.1.10|= 1 4 - 165,545 165,545 165,545 165,545
225 2024.1.10|= 1 4 - 243,126 243,126 243,126 243,126
LB H 2™ At 2024.1.10|1= 1 4 - 161,142 161,142 161,142 161,142
SIS A 2024.1.10|= 1 4 - 226,709 226,709 226,709 226,709
AL H2H A 2024.1.10|&= 1 & - 267,360 267,360 267,360 267,360




XH

24
=

g ]

<0

& A K&

e

KO

e}

A

Al

Xl

I

ol
=

=

2024 A

Xt

1577-8549
(02)3436-6450

TEL:

FAX:




& < t b =
YUY WsSHed-LS5 HE S SHHEA
EX w2 = &
== A 2| e SI
& o} 2 o & o} 2 o e o} 2 o e I} 2 o
1. XYl YSSBEIRI(SB) - =& 4EFE (H1070 x W2000-SB2) & XI BAL "B 2H'e
X ©139.8x2300x4.3t 1 EA | 60,000 60,000 60,000 60,000
FANF @114.3x500x4.3t 1 EA | 15,000 15,000 15,000 | 15,000
XEY 0139.82 1 EA 6,900 6,900 6,900 6,900
ERERaE 144x70x9t 2 EA | 10,600 21,200 10,600 | 21,200
2 175x4330x3.9t 0.5/ EA | 178,000 89,000 178,000 | 89,000 =AEz
2 175x4330x3.9t 0.5 EA | 124,000 62,000 124,000 | 62,000 oE3
SR 180x50x4003.2t 1 EA | 11600 11,600 11,600 | 11,600
HEy 130x100x3996x3.0t 0.5 EA | 180,000 90,000 180,000 | 90,000 w=0is
& E 31 110x100x3996x3.0t 0.5 EA | 120,000 60,000 120,000 | 60,000 w=0is
yeEs2 300x86x4.0t 0.5 EA | 20,500 10,250 20500 10,250 @=0is
X2 A'SSY 76x74x737 0.25 EA | 750,000 187,500 750,000 187,500 #a/aAme HE wE
SEEEET 240x95x4.0t 1 EA | 17,500 17,500 17,500 | 17,500
S2t B/N @16x190 3 EA 2,300 6,900 2,300 6,900
S2t B/N 216x38 6 EA 900 5,400 900 5,400
2t B/N 16x45 2 EA 900 1,800 900 1,800
S2t B/N M16x130 1 EA 6,000 6.000 6.000 6.000
S2t B/N M12x35 4 EA 1,300 5,200 1,300 5,200
S2t B/N M8x25 1 EA 1,000 1,000 1,000 1,000
£ (H BH) 657,250 - - 657,250
£l sga= 0.075 ¢ 214,222 16,066 214,222 16,066 |2024 AL HES (AL DA P.746
280= 0.150 ¢ 165,545 24,831 165,545 24,831 |2024& AL EEZH(ALATA) P.746
2| 25kw 0.100 hr 9,437 943 | 33,571 3,357 3,237 323 | 46,245 4,623 PPZIE CEREBAEEHTA) P16
w5 (22019 Z&)  0.6m® 0.100 hr 25,459 2,545 | 55,700 5570 | 34,509 3450 115668 = 11,565 oA DEREEAHEnTAIRIE
gmes 2.5ton 0.200 hr 7,083 1416 | 47,231 9,446 6.169 1233 60,483 12,005 YPE AEHSBMEEHTA) P
] AHZO| 3% 1A 1,226 1,226 1,226 1,226 2024 ALEEEH(ALADA) P.746
A3 (&R1HI) 6,130 59,270 5,006 70,406
p] 663,380 59,270 5,006 727,656
*'m' B} 727,656 | 2m = 363,828

0GS-SB2-H900-030S / 2015-09-22



U
M
g
N
H

M 2 dl L2 & Hl s A
5 E ~z | o9 B D
e It = %A = = %A = = %A e Ot = %
D EEDI(25kw) - Al E
25kw 1| hr 3,287 3,287 3,287 3,287 g?iﬁgx;dlfAﬁigiw3%(;8_(1)3?22672;%‘0000001
0.001W% S 43 | 1,770 7,611 1,770 7,611 |2024.01 H2HOt= P.1451
FH=Z 9| 24% 0.24 A 7,611 1,826 7,611 1,826
| HI 2 & A T 33,571 33,571 33,571 33,571 M4z=
A 9,437 33,571 3,237 46,245
: I E=(2.5t0n)-'Al2H'E
2.5ton 1| hr 6,169 6,169 6,169 6,169 g?iﬁgx;dlf islig(2075(?(1)3;)2;6%37{130000001
0.001W% S 29 | 1,770 5,133 1,770 5,133 |2024.01 H2HIt= P.1451
FHRO 38% 0.38 A 5,133 1,950 5,133 1,950
At T 47,231 47,231 47,231 47,231 MssE
| 7,083 47,231 6,169 60,483
:845(0.6m°, N SI0151 L&' ARV
= 0.6m” 1| hr 25,681 25,680 25,681 25,680 |3 sl 8 2 B 120340001 00.0000001
e =clolA 1 8,829 8,829 8,829 8,829 g?iﬁgxﬁng%EE;3376(?(1)3;)62661%0000001
0.001W% S 1.6 | 1,770 20,532 1,770 20,5632 12024.01 J{2HOHH P.1451
FH=Z 9| 24% 0.24) A 20,532 4,927 20,532 4,927
S8 A 1 ¢ 55,700 55,700 55,700 55,700 HMezE
| 25,459 55,700 34,509 115,668
DB A-AIZNE
28 A 0.208 | ¢l 161,142 33,571 161,142 33,571 [1LIIEAIZAOF H %X 3% X1 H 2==(1/8)x(16/12)x(25/20)
SIEXN2EA-AZY
A 0.208 ¢l 226,709 47,231 226,709 47,231 | 1IIZEAIZEXA 01 x5 XI H 4:=(1/8)x(16/12)x(25/20)




M = 4l L 24l 4 4l g Al
3B 3 =g | o= bl 22
= = o & Ot = o & Ot = o (=l = o
* HE6SH : ALI|H2EA-'Al2HE
AEIJH2EAM 0.208 ¢l 267,360 55,700 267,360 55,700 |12IIZEAIZbxA O Hl 2x & XI H 4==(1/8)x(16/12)x(25/20)
* AT}
SEgoL 2024.1.10|= 1 4 - 214,222 214,222 214,222 214,222
BS0F 2024.1.10|= 1 4 - 165,545 165,545 165,545 165,545
225 2024.1.10|= 1 4 - 243,126 243,126 243,126 243,126
LB H 2™ At 2024.1.10|1= 1 4 - 161,142 161,142 161,142 161,142
SIS A 2024.1.10|= 1 4 - 226,709 226,709 226,709 226,709
AL H2H A 2024.1.10|&= 1 & - 267,360 267,360 267,360 267,360




XH

24
=

g ]

<0

& A K&

e

KO

e}

A

Al

Xl

ol
=

=

2024 A

Xt

1577-8549
(02)3436-6450

TEL:

FAX:




ey wssHad-5 4 ER E0HES)

T2 bl LR 2l g
= 72 >z o9 bl 2
& ot =R & ot =R & Ot 2 o & Ot 2 o
. XYY WS SBERI(SB2) - =5 HE2S (H1070 x W2000-SB2) & X Z A 'F2H'g
?139.8x2300x4.3t 1 EA | 60,000 60,000 60,000 = 60,000
ks @114.3x500x4.3t 1 EA 15,000 15,000 15,000 15,000
2 0139.88 1 EA 6.900 6,900 6,900 6.900
ERSE 144x70x9t 2 EA 10,600 21,200 10,600 21,200
175x4330x3.9t 1 EA | 124,000 124,000 124,000 124,000 oeiE3
CEE 180x50x400x3.2t 1 EA 11,600 11,600 11,600 11,600
et 130x100x3996x3.0t 0.5 EA | 180,000 90,000 180,000 = 90,000 =0is
1 110x100x3996x3.0t 0.5 EA | 120,000 60,000 120,000 60,000 =0is
ze2ls 300x86x4.0t 0.5 EA | 20,500 10,250 20,500 10,250 2=0is
A'SSY 76x74x737 0.25 EA | 750,000 187,500 750,000 | 187,500 #a/sAzEbIE ¥
e 240x95x4.0t 1 EA 17,500 17.500 17.500 17.500
B/N @16x190 3 EA 2,300 6.900 2,300 6.900
B/N ?16x38 6 EA 900 5,400 900 5,400
B/N @ 16x45 2 EA 900 1,800 900 1,800
B/N M16x130 1 EA 6.000 6,000 6,000 6,000
B/N M12x35 4 EA 1,300 5,200 1,300 5,200
B/N M8x25 1 EA 1,000 1,000 1,000 1,000
A (R ZH) 630,250 - - 630,250
bN]:] SgoF 0.075 ¢ 214,222 16,066 214,222 16,066 |20244 AL BAEESH(USALES]) P.746
28o= 0.150 ¢ 165,545 24,831 165,545 24,831 20244 ALBANEESH(UEALES]) P.746
| 25kw 0.100 hr 9.437 943 33,571 3.357 3,237 323 46,245 4,623 PPpi! BASNEEBAHEALER) P76
WS (22013 ZE) 0.6m° 0.100 hr 25,459 2,545 55700 5570 34,509 3450 115668 @ 11,565 ol ZeSMESEAEAEEE)PI
Ze? 2.5ton 0.200 hr 7,083 1,416 47,231 9.446 6.169 1,233 60,483 12,005 2P SESNEEEAUEnaEa P40
=3:] oIHEZ2 3% 1A 1,226 1,226 1,226 1,226 (20249 ALTAEESH(HEALE D) P.746
AN (& RIH) 6,130 59,270 5,006 70,406
b 636,380 59,270 5,006 700,656
*'m" €0} : 700,656 |/ 2m = 350,328 o e L e 1 s s o




U
M
g
N
H

M 2 sl L 2y 2l g Al
= 72 s | @9 Bl 2
=3 2 o e O 2 o e O 2 o o O 2 o
: 2R D|(25kw)-'AlHE
0.001W% S 43 1 1,770 7.611 1,770 7,611 |2024.01 20t P.1451
=120 24% 0.24 Al 7.611 1,826 7.611 1,826
| H 2 Al 1 ol 33,571 33,571 33,571 33,571 H4zE
A 9,437 33,571 3,237 46,245
YO E2(2.5t0n)-"Al2HE
0.001W% S 29 | 1,770 5,133 1,770 5,133 |2024.01 27t P.1451
Fol2 0| 38% 0.38 4l 5,133 1,950 5,133 1,950
Ab 1 ol 47,231 47,231 47,231 47,231 H53E
| 7,083 47,231 6,169 60,483
D MS(0.6m° HEEHI0IH EE)-'AIHE
0.001W% S 1.6 | 1,770 20,532 1,770 20,532 2024.01 Heh7t2 P.1451
F=ol2 0| 24% 0.24 Al 20,532 4,927 20,532 4,927
SH A 1 ol 55,700 55,700 55,700 55,700 H63E
| 25,459 55,700 34,509 115,668
UL H S A" Al
S A} 0.208 ¢l 161,142 33,571 161,142 33,571 120712 Al 2bxat 0 H4x 3 X1 2 =(1/8)x(16/12)x(25/20)
SIEXSFA-AIRV Y
A 0.208 ol 226,709 47,231 226,709 47,231 [1LIIZ=AIZx a0 Hl 2=x 5 X H 2==(1/8)x(16/12)x(25/20)




M = 4l L 24l 4 4l g Al
=B A =g | &= B 2
= = o & Ot = o & Ot = o (=l = o
* HE6SH : ALI|H2EA-'Al2HE
AEIJH2EAM 0.208 ¢l 267,360 55,700 267,360 55,700 |12IIZEAIZbxA O Hl 2x & XI H 4==(1/8)x(16/12)x(25/20)
* AT}
SEgoL 2024.1.10|= 1 4 - 214,222 214,222 214,222 214,222
BS0F 2024.1.10|= 1 4 - 165,545 165,545 165,545 165,545
225 2024.1.10|= 1 4 - 243,126 243,126 243,126 243,126
LB H 2™ At 2024.1.10|1= 1 4 - 161,142 161,142 161,142 161,142
SIS A 2024.1.10|= 1 4 - 226,709 226,709 226,709 226,709
AL H2H A 2024.1.10|&= 1 & - 267,360 267,360 267,360 267,360




	30S##...OGS-SB2-BL-H1070xW2000(성토부)-2401
	표지
	일위대가
	기본대가

	30S#...OGS-SB2-BL-H1070xW2000(성토부)-2401
	표지
	일위대가
	기본대가

	30S...OGS-SB2-BL-H1070xW2000(성토부)-2401
	표지
	일위대가
	기본대가


